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1.	 There are three circles with radii 3cm, 4cm and 5cm touches each other internally. If P 
is the point of intersection of tangents to these circles at their point of contact, then the 
sum of the distances from points of contacts is?
(A)	 3 5 cm	 (B)	 12 5 cm	 (C)	 5 3 cm	 (D)	 4 3 cm
(E)	 None of these

2.	 Let a= 2 î + ĵ – k̂ and b


= î + ĵ . If c is a vector such that a . c =| c |, | – |c a  = 5 and the angle 
between a × b


and c  is 30°, then |( a × b

 )× c |is equal to?

(A)	 2
3

	 (B)	 3
2

	 (C)	 2	 (D)	 3

(E)	 None of these
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(E)  	None of these

Class-12 M             (Syllabus and Sample Question Paper)



4.	 a , b


, c  and d
  and the position vectors of the points A, B, C, D such that no three of them 

are collinear and  a + c = b


+ d


, then ABCD is a?
(A)	 Rhombus	 (B)	 Rectangle	 (C)	 Square	 (D)	 Parallelogram
(E)	 None of these

5.	 A random variable has the following probability distribution.
n : 0 1 2 3 4 5 6 7
P(n) : 0 2p 2p 3P p2 2p2 7p2 2p

The value of p is?

(A)	 1
10

	 (B)	 –1	 (C)	 1
10

− 	 (D)	 Both (B) and (C)

(E)	 None of these

6.	 A shooter is firing at a distant target and has only 10% chance of hitting it. The least 
number of rounds, he must fire in order to have more than 50% chance of hitting it at 
least once is?
(A)	 11	 (B)	 9	 (C)	 7	 (D)	 5
(E)	 None of these

7.	 If A = 
cos sin
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(E)	 None of these

8.	 In the given circuit with steady current, the potential drop accross the capacitor must 
be?

(A)	 V	 (B)	 	 (C)	 	 (D)	
(E)	 None of these 



9.	 A number of each 24 Ω resistors are connected as shown in the figure. The effective 
resistance between P and Q is?

(A)	 21.6 Ω	 (B)	 24
3
Ω 	 (C)	 26 Ω	 (D)	 36 Ω

(E)	 None of these

10.	 An electron of mass m and charge e is travelling with a speed v along a circular path 
of radius r at right angles to a uniform magnetic field B. If the speed of the electron is 
doubled and the magnetic field is halved, the resulting path would have a radius of ?

(A)	 4r	 (B)	 2r	 (C)	 	 (D)	
(E)	 None of these

11.	 The distance between an object and the screen is 100 cm. A lens produces an image on 
the screen when placed at either of the position 40 cm apart. The power of lens is ?
(A)	 3 dioptre	 (B)	 5 dioptre	 (C)	 1 dioptre	 (D)	 9 dioptre
(E)	 None of these

12.	 Plots of variation of the rate constant ‘K’ with temprature (T) are given below. The plot 
that follows arrhenius equation is ?

(A)	 	 (B)	 	

(C)	 	 (D)	
(E)	 None of these

13.	 But-2-one can be converted to propanoic acid by which of the following?
(A)	 NaOH/NaI, H+	 (B)	Fehling Solution	
(C)	 NaOH, I2/H

+	 (D)	Tollen’s reagent
(E)	 None of these



14.	

(A)	 	 (B)	

(C)	 	 (D)	

(E)	 None of these

15.	 The product of acid Catalyzed hydration of 2-phenylpropene is ?
(A)	 3-phenyl-2-propanol	 (B)	1-phenyl-2-propanol
(C)	 2-phenyl-2-propanol	 (D)	2-phenyl-1-propanol
(E)	 None of these

ANSWERS
1.	 A	 2.	 B	 3.	 A	 4.	 D	 5.	 A
6.	 C	 7.	 C	 8.	 C	 9.	 C	 10.	A
11.	 B	 12.	A	 13.C	 14.	D	 15.	C


